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NAME %0LUT|ONS

STUDENT ID #

RECITATION INSTRUCTOR

RECITATION TIME

LECTURER

INSTRUCTIONS

1. There are 8 different test pages (including this cover page). Make sure you have a
complete test.

[N}

. Fill in the above items in print. I.D.# is your 9 digit ID (probably your social security
number). Also write your name at the top of pages 2-8.

3. Do any necessary work for each problem on the space provided or on the back of the
pages of this test booklet. Circle your answers in this test booklet.

4. No books, notes or calculators may be used on this exam.
5. Bach problem is worth 8 points. The maximum possible score is 200 points.

6. Using a #2 pencil, fill in each of the following items on your answer sheet:

(a) On the top left side, write your name (last name, first name), and fill in the little
circles.

(b) On the bottom left side, under SECTION, write in your division and section
number and fill in the little circles. (For example, for division 9 section 1, write
0901. For example, for division 38 section 2, write 3802).

(c) On the bottom, under STUDENT IDENTIFICATION NUMBER, write in your
student ID number, and fill in the little circles.

(d) Using a #2 pencil, put your answers to questions 1-25 on your answer sheet by
filling in the circle of the letter of your response. Double check that you have filled
in the circles you intended. If more than one circle is filled in for any question,
your response will be considered incorrect.

7. After you have finished the exam, hand in your answer sheet and your test booklet to
your recitation instructor.
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1. The domain of f(:c):x/l—’lnm is
X>0 omd 1-{wx=0

N

Q% <L

X €€
O<Xx< &

F
cmx—aooj/ \1/ j’
0 "o 0

A z<e

0<m§e

C.e<z
D 0<z<1
E. 1<z<e

E. Does not exist

by squeeze thiovem

3. Let f(z) be continuous on [0,1]. Which of the following conditions guarantee that

there is a solution of f(z) = 0 between 0 and 1?

() FOFW) <0 — froy and L) bt opponils () @ only

(i) F0)~f1)<0 — £ > £

(i) FOFD) >0 —5 §0) amd 1) houre some

ntevmediads veliuse Uneavem

B.
C.
D.
E.

(ii) only
(iii) only
(i) and (ii)
(ii) and (iii)

4. Find the equation of the tangent line to the graph of y = tan? z at the point (%, 1).

ééi. = 2 torm Tec'x

A y=4z+1
L y=4xr—7

@ y=4r-n+1

D. y:2$~—§+1

e
E. y=2z— ~
y=2z-3
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5. Let f(z) = cos(e®). f"(x) =
‘ 1 - x _ T
S_ (X) - /%fn(e )'6 A. —cosz(e®)
B. —e® cos(e®)

= - exsiﬂ(«?_*)

C. —e® cos(e”)—2€2® cos(e®)
fll(x) = = e” s (e*) .ex —e*iﬂ‘ﬂ(ej) —e” sin(e”)—e?® cos(e?)

— engﬁﬁ(ex) _ exs‘\ﬂée") E. —e” cos(e®) —e® sin(e?)

6. The slope of the tangent line to the curve z3 — zy + =1 at (1, 1) is

A. 0
3x - % i_‘Li — 3 Qéﬂ.-::O
. dux k. P oA B. —%
At (X“j) :(1.')6) : C 1
2 Y _ 2. q‘é__}é_ 3
CRE R i ! M-G )
3

o d — 1.3
b
-1
oX
7. 1im——mrz_*/5=,?jm '5“"@::{/

z—0 A. o0
h—>0 b 1
wline  §(x2 = X o/
709> T& 2Y5 C. 0
8¢ LTH vula \ D. 2v/5
ot H e —
- %+5 -‘rb: ,E‘___: QA IS -4 E é
X O __Q_X X =0 4 A
!
z—3 ¥ -2 5 U &
8. lim = Q)\m - v =
z—3 2 — 4+ 3 X (Y,g)(xo\> ¥ =73 x-1 A0
B.
v’ L‘H‘ T\LQ.Q- 1
. -3 LH A \ @ )
L\m —_um A D. 3
X 2 X & 4% >3 Y—2 3 2x—-4 1
9 B g
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9. Let f(z) be the function given by

1 -z,

Which of the following are true?
(i) alcl_)ml f(z) exists

forz <1 A. (i) and (i)

forz=1 (i) only

~14z, forz>1

(ii) f is continuous at z = 1

(iii) f is differentiable at z =1

C. (ii) only
D. (1), (ii) and (iii)
E. None of these

L fx) = /Q*‘/‘/"\ Lx) = O bot Fu) =

X—= "

10. Find the derivative of f(x) =In|z3cos z|.

§'0)=

=~-Tanx + =

x @ %—tana:

1 3, . 2 A. L
— | % (_:my)_;. 3% V% z3 cos
X2 cotx 5 _3

= " zcosx

3
D. — +secz
T

1
E. — tsecz
T

11. A lighthouse is located on a small island 4 km from the nearest point P on a straight
shoreline, and its light makes five rotations per minute (107 rad/min). How fast is
the beam of light moving along the shoreline when it is 2 km from P?

fi—% — 40T va,cL/m'm ' 507 km/min

L

towB = ’X_ C.

4 D.

N cectodnonax ’
] éX 4 ok

2007 km/min
207 km/min

20+/57 km/min

. 40v/57 km /min
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1

12. If f(z) = sin, use a linear approximation to approximate sin | — -+ 0 ): i
9 —
: A.
£ » §(a) + g(a.) (x—-cx)) /va X near o 10
. \ B 9
Let {(x)—;smx a:% )
v 1 2
AN iy - z
SinX &\n(z.) + Co% (Z)(X 6) ?low * heax 5
Sinx N _ﬂi—.-l-g-()(—lf- @10+\/§
Sin(F+i) o ! N EN I - 2
e Tie) T 2 2 (¢"6 T E 10 — /3
=L+ B8 1L _10+13 © 20
< 210 - 2,0
13. The minimum and maximum values of f(z) = xzi T on the interval [0, 2] are
2
: X41)1 - X-2x% ™
g () = ( y T - -g'—;z(""".a_ A. Oand2
(x* +1) (x*+V) 51
v/
§'ta=0 - (--7-‘-—“ 52 =0 — x=A 4, B ooleny
X 9
f(O): 0 & min _l¢(0'2) C. —1land 5
- A
g(”""i €~ &% @Oand%
g(i)':-z-‘- _2_ 1
5 E. 5 and 2

14. At 2:00 PM a car’s speedometer reads 40 mph. At a quarter of an hour later, it reads
60 mph. The Mean Value Theorem guarantees that at some time between 2:00 and

2:15 the acceleration is exactly A. 20 mi /hr
U (z2.25) — VL (2) _ (U,(C) Jor soma C c (%2-7-5) B. 5 mi/hr?
2,25 — 2 (C) 80 mi/hr?
[Xe) —;;_O — otle) - alc)=%80 D. 40 mi/hr?

a

E. 120 mi/hr?

!
. LA P .
15. lin%)%tana::QAV”b L::(nx ___,Jaun" ¢ X =A
0.
0
D. o©

E. —x
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16. On the interval (0, ), the function f(x) = 2o —sinzg is

’ Decreasing on (0, %) and increasing

on (g,m).

cosx=L o x=% . . _
2 B. Increasing on (0, %) and decreasing

§’(x). B e e o o SO on (3, 7).

T

(6] 3‘31' m C. Decreasing on (0, %) and increasing

on (F,m).
D. Increasing on (0, Z) and on (3,7m),
and decreasing on (%, %).
E. Decreasing on (0, §) and on (%, ),
and increasing on (%, %).
17. The function f(z) = —z* + 622 4 8z has © = —1 as a critical number. The point

(=1, -3) on the graph of y = f(z) is a:

(i) local maximum. A. (i) is true

.. i) s t
(ii) local minimum. B. (ii) is true
(iii) point of inflection. @ (iii) is true

= 1, D. (i), (ii), and (iii) are all true
Fo=-ax +vi2x+2 | L'(N=D
. E. None of these
&l/(x) = —12x*+12 =12 (1-% )

(-0 =0 R B

" R e s i e e wi VA
o0 0 s ; * - 2

- 1 o 7-/ -3

e (-—'} —37 \/5 awn blﬂgled\‘a’\w &oln‘r

S

18, & C g X 3%°
3 iTe T o 1
gy ®
oy ———l—-’"’ 3
1w 5 e
C 33
VxS
p 5%
V1428
3"

E. ——

1+ 23
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A

19 /% cos 6§ 0 — f u‘-—3m _ u'Z}L . .
Sz sin®6 %, oy \ _ -3
w=z sin®  du= 0040 R — " g
-1 —_

6:% YTz - 2u* \]/2 C. 1
- s u=t b3

2 — 1
- ® 2

and the z-axis from

20. Find the area of the region between the graph of y =

g
V2 V2
7.

.{-2';— Y E?: A 7
A - - AJX = 3un x B T
1% e 2
Yz S 5
2 C. —
e 2 . -1 q) 2

— Zsan () 3 san (—7
= e () ®
2
=32 -3(%) g 2

— 3

X
fEmdn = adi Jnjuy + C
j+€ w e
Lot +e” darz @7 =l fia)+C E. In2
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22. The half-life of a radioactive substance is 100 years. In how many years will its mass

: 1 . X
decrease to 10 of its original size?

wt A 2lnlOO
m(t) =wm € In2
k400 _ 1ok o
i, =wm € - 4= B. 102%
2 9 9 (2 In10
_ e n2

— Qw2 =100k — I 100 In 10
L, C. 507~

Yh(t') :mo .€~ 10a
— n2 D rolR2
fz- m,=m_ e~ o 210 - 0o
__vaio _ -—;—&‘6“' t — t an @ 100111;1120

3 it\ﬁ VE %= o= (B) 827 + 9> =72
- - y; - —

2 P D. 922+ 42 =9
Xy, 2 -4 3)(7‘-\—932:72 ) )
Q E. 92° 4+ 8y* =172
24. The focus of the parabola 22 4+ 2z — 4y +9 =0 is (-1,3)

X3y 2% 44 = 49 -9+

- B. (-1,2)
3+ = 4 (4-2) C. (1,3)
verlex (-1,2) , p=1 D. (3,-1)

Foon (-1,32) + E. (2,1)

25. The equation of one of the asymptotes of the hyperbola z2 — 9y? — 36y = 45 is
X“ — 9 (444 +4) = 45 -3¢ A z+3y—1=0

% —
Xz _9 ("A‘\'Q') _:9 B. 2-9y—-27=0
C. z-3y—-7=090

2 2
X - (._—_—%"1:2) =1 (D z+3y+6=0

9
As»bm\o‘\:m,, ! X E. 249 +18=0



